[ normalized x? probability |

1 Entries| 0,35i Entries

0.3

0.25f--i -5
1072 H
0.2F- -+
107 o
0.15f--i 4 -re-
10 i
0.1f--- -5+

107

0.05f--+ f-+--

1008 i Steblliibtetetebeitebtetetelitetebeteieileteieleiieiel 1.0

0.

W2 4 6 8 10 12 14 16 18 20 “0 010203040506070809 1

mms== DQM_DisplacedSUSY__mkFit_

=== DQM_DisplacedSUSY__mkFit_BDT_

2.5F-eunee eeeeees ARRRIEEEE oo 16

R FERRRRREE FRRRREEE R Feeeeees 0.8

e
T
3

N

S

T
i
T T[T [T [T T I [T TIT T

107 1 10 102 10° 107

. : : :
10" 1 10 10? 10°



	Contents
	Page 1


